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; 100kN/mM#Z#B% % — -~ - —|3mZEEZB| — ~ — — — | 100kN/mM%# %3 — -~ — —|3mZE#BZ % -~ — — —
Fh s 1.00 | 0.00 ~ 417 5221 | #ns | 0o0 ~ 417|203 10.84 Zh LS 1.00 | 6.00 ~ 5.00 5221 | #nLSY | 5,00 ~ 5.00| 203 10.84
P 100kN/mM#Z#BZ2% | 1.00 | 000 ~ 288| 14555 |3mEBZB| — ~ — — — | 100kN/miZE#BZ5 | 1.00 | 1064 ~ 2409| 145,55 |3mERBZS -~ — — —
znLs 1.00 | 288 ~ 1066 100.00 | #nS | 0.00 ~ 1066 2.80 15.00 Zhn s 1.00 | 5.00 ~ 10.64 100.00 | =N | 5,00 ~ 2409 2.80 15.00
3 100kN/m##8%25%| 1.00| 000 ~ 292 146.32 |3mEBZ 5| 0.00 ~ 0.08| 3.04 16.29 | 100kN/m#E#BZ% | 1.00 | 1053 ~ 2556 146.32 |3mE#BZB| 25,00 ~ 2556 | 3.04 16.29
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Zn LS 1.00 1000 ~ 475 59.21 | #Fhlst | 0.00 ~ 0.00)| 1.67 8.96 ThLs 1.00 1500 ~ 5.00 59.21 | ThLs | 5,00 ~ 500 )| 1.67 8.96
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